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@cbocus Mastery Checkpoint
Have you mastered finding volumes of shapes?

The volume of a cuboid is length x width x height

a)  Which of these three cuboids has the greatest volume?
Cuboid A: Length: 9cm Width: 6cm Height: 7cm
Cuboid B: Length: 1I8cm Width: 4cm Height: 4cm

Cuboid C: Length: 7cm Width: 7cm Height: 7cm \./
b)  Which would make the best dice? Explain why. “
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Champions’ Challenge

The volume of a cuboid is 900 cm?3

I. What could its length, width and height be? Find three different
answers.

2. If the length and width were the same, what could the height be?
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